AHvo

a0,01° pres

Var AHvo

a0,001° pres

a 0,01° pres

a0,01° pres

Hen UTC
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a 0,001 d’heure pres

DzC = cos™!(sinL sinD + cosL cos D cos AHI) =

/Z = cos”

Correction additives bords inférieur du soleil

Hauteur Elévation de I'ceil

observée 0m 2m 3m 4am 5m
6° S 5',0 4'5 4',0 35
Y i 857, 6',2 5,6 51 4'4
8° 9'.6 7,1 6'.5 6',0 5.5
9° 10,3 T 2 6',7 6',0
10° 10°,8 8.3 7'8 7.3 7',0
12° 1157 9',2 8'.6 8,1 S
15° 12'6 10,1 9'.5 9'.0 8.5
20° 13'5 11,0 105 9'.9 9'5
30° 14',5 12,0 11’5 109 10,5
50° 1543 12,8 12,2 317 11',0
90° 16',0 13,5 13,0 12'.5 121
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a 0,01° pres
AH AHI

a0,01° pres
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sin D -sin L cos DzC

cosLsinDzC

-

a1° pres

a0,01° pres

DzC

a0,01° pres
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Date
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Corrections additives

Collimation

Intercept

90° 89°

Hv

DzM
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